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[B]

9l {99 9 [T (CHILD DEVELOPMENT AND pﬁDAGOGY)

oy : Pl Sl & 3T 33 3 oy et ofe e v

Direction : Answer the following questions by selecting the most appropsiatscpion
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il # Tl Meme @ R &
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(2) Tiafe HagAeiad
(3) giafe e
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& onget o fed we & 7

(1) 68 8ad
(2) 88 1094
(3) 7& 9ad
@) 113 143 L
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What is the process of releasing the

hidden emotional suffocation and

powers inside the children called 7
(1) Emotional stability

(2) Emotional sensitivity

(3) Emotional catharsis

(4) Emotional competency

When a person tried to make his/her
thoughts and action according 10
other whom he like to follow, then
this kind of activity called which

type of defence mechanism 7

(1) Identification

(2) Projcction

(3) Rationalisation
(4) Displacement

According to Jean Piaget between

which the child develops

abstract reasoning ?

age

(1) 610 8 years
(2) 810 10 years
(3) 7to 9 years
(4) 1110 14 years
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childhood ?
(1) Deplction of Encrgy

(2) Lisping
(3) Slurring

(4) Stuttering f

How many - cards pres;:ribcd in
Rorschach Ink Block Test ¢

(1) 12 (2) 10

(3) 30 (4) 31 |
What is the age range of puberty
stage ?

(1) 10 to 12 years

| (2) 6 to 12 ycars

(3) 11 to 16 years
(4) 8 to 10 years

According to 'Ross', which stage of

development is known as 'Pseudo
Maturity' stage ?
(1) Infancy (2) Childhood

(3) Adolescence (4) Adulthood

Out of the following which one Is

not the type of performance test of
intelligence ? .

(1) Army alpha test
(2) Koh's block design tes

(3) The cube construction tesy

(4) The pass along test
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9, frsfefa Q@ @l 0w faduen

sfonaredl aeat 4 gfte & Iugg @
B?

(1) & A ofr srarh A drad &
(2) e ywfas &A@ B wERlkd @ B

(3) Ly H TEERE @A ¢
Rid g & RrR 989 SrTes
e e ¥

(4) 1 T SR G A W@ & A
THR @ @ o 3¢ 9 A=
HI Sasar 8l Bl

frfoiee & § - & avga @

T o R # ST

SERIE I Do B GG [

FH & ?

(1) HguEIHs -  ORUTES —
HAPERMHE — I

(2) JAYTHE — ARPRITHE -
YRS — IeTE

(3) APPRTHF — SEUNAE  —
UROHE —> I

(4) HIGHE — TROMHS — IGA
—> HARERTHE

11. AREARE qs & oIfe e

ferar o ?

(1) Sto Fo TUETEH

(2) Sfo To HRAN

3) 3o dto ERH
(4) Sito THo AWM
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9.

[B]

Out of the following which one
characteristic  por suits o gilted
children 2

(1) Learn rapidly and casily.

(2) Perform difficult mental task.

(3) Knows about many things of
which most of the students arc
unaware.

(4) Much drill is required to retain
what he/she has heard or read.

Which one bf the following is the
correct logical order of obscrvational
learning process according l.earning
Theory of Bandura ?

(1) Attentional — Retentional —
Motivational — Production

(2) Attentional — Motivational —
Retentional — Production

(3) Motivational — Attentional —
Retentional — Production

(4) Attentional — Retentional —
Production — Motivational

Who invented sociometric technique ?

(1) J. E. Anderson
(2) I L. Morf;no

(3) E. B. Hurlock
4) G. S. Marmor
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(3) Tt U § AR AR aEERE
gfskad (g
(4) IRTET & TIHD X gHET

7 free @w 5 ‘el Seerd
R et st 1 dvr &7 7

(2) st
(4) &ed

(1) & B
(3) I
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(1) Terman

Who stated that "An individug|
intelligent in proportion as he iy able
to carry on abstract thinking" ?
(2) Dcarborn

(3) Buckingham (4) Calvin

Girls surpass boys physically in :

(1) Infancy
(2) Later childhood

" (3) Early childhood

(4) Adolescence

Who is known as father of

Educational Psychology ?
(1) E. L. Thorndike

(2) Pestalozzi

(3) Herbart

(4) Froebel

Out of the following which onc is
the subject matter for study of

Gestalt Psychologist ?
(1) Cognitive processes

(2) Consciousness

(3) Mental and behavioural
processes a wholes

(4) Modes  and  problems  of
existence

Who stated that "Personality is the
sum total of innate and acquired

dispositions" ?
(1) Mortin Prince  (2) Allport

(3) Valentine (4) Cattell
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17. Frfofeg & @ F9-d oa ool
; qh B QAT 787 ¢ 7 '

(1) T gwfy @ T S

(2) g9t A7 ©d ITerd H

(3) |

(4) ST @ | @ v

18. Pr=fifam § & F-0 oiqqel @
SR T R w7

(1) FerdarR R AEeR®

(2) T A @t 7 @

(3) Tt & Ty R & qEdA

(4) o9 fErd @ e AR godl
T |

19. Frifofen & & @-8 & iR
“Rremar” o wefe & Gge &
[ I9geaa 77 & °
(1) & ayeran R # MRagel Refa
TR FHA
(2) Rt & 9 & I &

(3) 999 gHIgE
(4) T & fagr-faud /

20. f=fafeq & & @8 T gorrer
F oTERy WA A I AEACH
s § ufoaRa 7 B ?

(1) Fer=an ST=Twifaa
(Q)ngcﬁ@a/
(3) &

(4) HepeaAr fmioT
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[B]

Out of the following which one s
wrong characteristic of Delinguents
(1) Damaging school property

(2) Bullying and mockery

(3) Torturing

(4) Acsthanic in constitution

Which of the following s the

characteristic of introverted thinking

type personality ?

(1) Realistic and Practical

(2) Absorbed in his own intellectual
pursuit

(3) Supports theory with facts

views  with

(4) Propagates  his

insistence and vehemence

Out of the following which onc

activity is mot suitable for satisiying

the instinets curiosity 7

(1) Awarding positions in the class
or school

(2) Answering the questions ol the
students

(3) Problem solving

(4) Discussion in class

Out of the following which one

the
prescribed by Gordon
)

Synectics Technique

is  not stage  of  creativity

hiw

(1) Detachment involvement
(2) Finding something similar
(3) Deferment

(4) Concept formation
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(1) Wads Riga—"
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21.

ollowing which one of

“the |
Out ol in context of

atement is wrong

the st . L
of sentiments

characteristics
basis  of

arc the

(1) Emotions
sentiments.

(2)- Sentiments are innate.

(3) Sentiments get older with the
‘passage of time and they may
even change their state.

(4) Most of the animals do not
have sentiments because of they
do not have intellectual

comprehension.

A type of thinking in which one's
interpret sensation with experience is
known as what ?

(1) Reflective thinking

(2) Perceptual thinking

(3) Creative thinkihg

(4) Critical thinking

Out of the following which is correct

sequence given by James Lange's
"Theory of Emations" ?

(1) Situation — Bodily disturbance

— Mental state

(2) Situation — Mental state —

Bodily expressions
(3) Situation — Bodily expressions
— Mental state '

(4) Situation — Mental state  —»
Bodily disturbance
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24, fad g mafer & aa 24, Somectimes the children ol gifted
W wre-fom @) vl R _'!f"’a # parents arc born with less intelhigence
v W oA R oaua 3EH &% Ieer than their parents or vice versd.
B R, ge asnrga;q & S-a Fam which Law of Heredity is called ?
&HE 2 . ;

ween ¥ - (1) Law of Regression
) WEITITE ﬁq‘i ;
& b (2) Law of Sclective Traits
£ Tﬂ MO by -' (3) Law of Maternal and Paternal
(3) wrg g Rg wt F Fam | Lines
(4) qam 1 Jam -_ (4) Law of Chance

25. UREE 3 AR off & gEENE | 25. Which is the fourth stage of psycho-
R & Ol sraen PE-8 8 7 social development of an individual

according 1o Erikson ?

(1) Smedr g9 e (1) Intimacy v/s isolation
(2) TeuE S Y wuifd -' (2) Identity v/s role confusion
(3) uftem BEar a9 erFar 1 (3) Industry v/s inferiority
(4) Sareasiiaar aam R '- (4) Generativity v/s stagnation
26. Frfoiaa § @ $9-a1 9w 3 g 26. Which onc of the following is false
¥ o a9 ¢ 7 statement in context of Development ?
(1) fawmg & oftgdw ffed & oT (1) Development involves change.
(2) fawmamTs Yot Gﬂ'q'f'ja?l 2 B (2) The development pattern is
unpredictable.
(3) smPwE R{Fm, qegadt fasd @ (3) Early development 1s more
AL ¥ wgrar Heheqet g 2 critical than later development.
(4) fa@mE IRyFEar U9 - JEFH @ (4) Development is the product of
I B B maturation and learning.
P.T O

Level-2/202
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BT .
R % ATl o ey
T AT FEA R 7

mﬁﬁaﬂeﬂmmnﬁﬁaa;

fesbre @ serar 3 3

1

(4) Fdm BB af| 3 o wm

@ 9 H H e T Y

asiedl & Ry v & gre X
fehed e fepam 2 7

(1) SNSYY 91 afy
(2) ST WA Ay
(3) &R HIEAT

(4) fefRar & sra

IAeR H ATIT FH 3 ¢ d9d
g R fe-E R 7

(1) sarmers fafe

(2) Farfe fafy

(3) T fafy

(4) rEFE Ay

30. P & & @l @ o

%t fadar 78 % 7

(1) 3TTBREHar

(2) 749 uRfEfa & sefear
(3) Ed T

(4) STfRaT N T | BT i________
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i

Out of the following which one is

‘the wrong statement in context of

characteristics and nature of guidance ?

(1) Guidance is assisting the
individual to adjust himsclf.

(2) Guidance is promotion of the
growth of the individual in scll
Guidance.

(3) Guidance is  hclping  the

individual  himself  through
-others efforts only.
(4) Guidance is  assising  an

individual to find his placc.

What did Freud consider the paternal
love of girls ?

(1) Oedipus complex

(2) Electra complex

(3) Narcissism

(4) Feeling of dependence

Which is the oldest method for the
study of behaviour 7

(1) Experimental method

(2) Clinical method

(3) Psycho-physical method

(4) Introspection method

Out of the following which one is
not the characteristic of insight ?

(1) Incidental
(2) Response in novel situation

(3) Habit strength

(4) Response spontaneity
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[ - II (PART - II)
A (=< Tg 3idl) [ LANGUAGES (HINDI & ENGLISH) |
f&= (HINDI)
;ﬁi’v:ﬁ%aw#%‘méﬁimmﬁaﬁﬂﬁwy%m

31. FhE ey & aft o foRwt & 2 s BN o= @ oRe & ogRe 39
(1) e, gsfi, qad qearfa -
@) PR, SR, Fo (1) % - ¥
(3) FHfH, srp, e (2) geare - fagafE |-
)P, T, o (3) faega - it
32. T F e ¥ Rew w= H A @) W -
HFITE ?
(1) J&&T - T 36. f5d fameg & dbarels’ a7
(2) & - o (1) B 7w /= 2
(3) feiH - 39 b~ (2) 3fF g emel & ¥ =) —
(@) TGO - o (3) B Hd & FA AEH % 8
33. 59 ama § gdum GaRe oy 7 (4) TS AT FHA AEH HA
(1) Tl J&T% & 78 98 o 37. = § & F-@ 9= ‘Hg I d
(2) & ST FE F @ Fffa 72 ® 7
(3) o= o @ &, a3 2 (1) emgufess (2) STEN L~
(4) 3 F B ff TT T M wWYS (3) srfea (4) T
. Frm a7 AR RO w | %ﬁ%%ﬁmﬁﬁ%ﬁm
SENT B3 B 7 o -
(1) § et FHT T2 geea (1) 3&0 & fovis & qerq | —
(2) 39 I} SR ¥ 9ga SAd R (2) gudl AR A-A
(3) @a ® T T Bl (3) @R = &1 ateh T o 1
(4) RAT 78T TIF B (4) o™ % AW et 3 am

Level-2/202 P,
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W B8 wmEE wm o P
mﬂwﬁgmh?

(1) 999 (2,%%
‘3)va (qjl:nqa
0. 5 3 @6y 3 P9
g iﬁmmgrq.;@%a
(”mmwﬁﬁﬂﬁm-
SFHE foha
(2) T ®W H ¥ Rrgd B -
fasr® fopan
Mﬂ"ﬁ%ﬁ“h:ﬁm%n-
g5 o
(4) 7@ EeE ¥ R @ En -
e B

41. waEEE = 3 wedt ¥ o R
g -
(1) S9 - g, &, arl
(2) TEFX - 3w, T4, 7T
(3) T - W, 7@, w

\ AT BT - frass, Agge, sidnw

2. E-fmE @i e F -
T e ?
(1) BIHEN - B&f | To™ arel &
(2) 997 - 9 & 59 o9 a@L—
(3) 2w - 3 B g whE
(4) gEf - 9y & fg sl >

43, o P & dfy-frede ogfm @ 7
(1) afedsar = afg: + ohdr
(2) andfdaa = andfi: + F=4
(3) Forew = + w7
(4) qugeat = a9 + 41

44, ?ﬂﬂﬁﬁﬁg@ﬁ%ﬁﬂé%ﬁ
?
(1) &t 9T &gl "I -

HA FaE a7

(2) SRR &% BT - g9 B S

(3) fox & wdFT 9 d% S -
o ST UREH FT
L-G) gt #1 ¥ 89 - a4 gaw em

a5. Fret § @ hg ooy & w99 700

R?
(1) ' F I=RO & ‘qat’ B

L&) Rt ey & o g aot §
S B

3) @ AR T F o =W f oFw
ST B

(4) ¥ R 7 S oot s ¥

e

Level-2/202
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(B]

Direction : Answer the following questions by selecting the most appropriate option.

46. Sclect the appropriate modal for the

eXpression given
Harish has annoyed his boss today.

He ........ be fired soon, (probability)

() may (2) can

(4) would [/

Choose the correct tense form to fill
in the blank -

(3) ought 10

Municipality has decided 10 ...
the overhead wires,

(1) did away with
(2) do away with,””
(3) has done away with

(4) had done away with

Select the appropriate modal to fill
in the blank :

Trespassers ........... be punished.

(legal notice)

(1) shall
(3) shouldV”

(2) may
(4) ought tow

Select the appropriate preposition 0
fill in the blank :

......... hotel Taj.
(1) above v

(2) out *

(3) besides v~

(4) beside

His hut is

Level-2/202

1

50, Choose the correct meaning ol the

underhned words ¢

The law and order situation will only
become worse in the state due to the
riots. if the government does not do
something right now to nip it in the
bud.

(1) To plan in detail to stop a threat

(2) To destroy the problem in- the
initial stage only g~

(3) To arrest the culprits

(4) To stop something harmful in

the initial stage

Select the correct option (Phrasal
Verb) for the underlined word :

She rejected his request to take her
home.

(1) turned up  (2) turned down &
(3) turned out  (4) turned off

Choose the correct option to fill in
the blank :

This pen is both good ...... .. cheap.
(1) as well as (2) as well
(3) but only (4) and |~

3. Choose the correct option for the

following :

One who wastes a lot of meney is :
(1) frugal (2) recluse

(3) prodigal,” (4) reticent
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54. Choose the part  of 1l g
¢ ¢ sentence s :
which is incorrecr - E 57. Choose the cjorrecr tense form to fill
R , : in the following :
Y president made I had consulted my lawyer before I
(@) -+ vor... the complaint,
Rakesh 2 M P candidnss
%) £~ candidate (1) did lodged (2) had lodged
(¢) s
for the coming election, (3) lodge (4) lodged
(d) 58. Choose the appropriate modal 1o fill
(1) a (2) b in the blank :
(3)sC w He ol listen to the stories of
. e his Grand Ma before he slept.
SS. Select the correct option (Phrasal (Past habit)
Verb) for the blank lefi i :
s RPR (1) could (2) shall
Cholera has .......... in this village. (3) wouldL” (4) might «
(1) broken outw 59. Choose the part of the sentence
(2) broken d which is incorrect :
e He did not  keep his words
(3) broken up (a) (b)
(4) broken off to pick himup  from WTP.
i (©) (d)
36. Choose the correct meaning of the
underlined words : (1) b @) e~
The hostess broke the ice by 3) d (4) a
introducing the strangers to each 60. Choose the appropriate preposition
other, to fill in the blank :
(1) To make .people relax with each What is: the time. ...c.co.ou your
other watch ?
(2)"To make people perplexed with i l/ 2 f
each other &~ (1) %) from §
(3) To serve welcome drink to the ) by (4) on g
guests ”
(4) To start a game of puzzle »
Level-2/202
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[15] [B]
¥R - III (PART - III)
| 378999 (GENERAL STUDIES)
AETC G, i SR o S M O SIS (QUANTITATIVE APTITUDE
REASONING ABILITY AND G.K. & AWARENESS)

R : et et & gt 33 3 fog et ofe Res g

Direction : Answer the following questions by selecting the most appropriate option.

6l. TF U9 o e, AR Ud TR 61. The

6l. sum of length, breadth and
AT 19 R, @ Eﬂ% depth of a cuboid is 19 e¢m and its
fareket oy HIq 5\/.— a4t % - ST principal diagonal is 5\/; cm. then
gﬁaﬁ'q iﬁtﬁa R its surface area is :

(1) 361 e’ (1) 361 cm’ \//“

(2) 286 T’ (2) 286 cm’

(3) 236 FF° (3) 236 cm’

(4) 340 iy

(4) 340 cm’

62. TEH A wH R # A T WE @ 62. In arow of boys. A is 15th from the
15¢ T2 B T A ¥ A ®|E W " left and B is fourth from .the right.
g @ A T B & 59 dF @S ©, There are three boys between A and
C., A% uwHew qff &R &, & C &

B, C is first left of A. What is the
position of C from the right ?

(1) 9#11/__,9&

— (1) 9th
Y
(2) 104t iy L (2) 10th
!
(3) 124t IS ‘T (3) 12th
4) 134 \ d) 13th
63. U= Afdl A, B, C, DT E H, A 63. Among five persons A, B, C, D and
B ¥ ®ier dfFT E § &1 8, C T=9 E, A is shorter than B but taller than
T %, D,B ¥ 8 ® ?YW A b E. C is the tallest. D is shorter than B
SRS %, ar ?F‘Iﬁ ¥ $9 g9 B % ? but taller than A. Who among them
¢ is shortest ?
(1) B @A 8 (1) B (2) A
(3) D @ EV A (3) D (4) E
Level-2/202 2
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10 : 5 8400 e
b s
Pxs o B iat ¥ T
3 3 b
(8 3 ey
| . . 140 metre long is running at
| A T el e 04, A HAG w much time will it g
60 &t Aauer ¥ 60 km/hour. Ho
| Seerd & qR" Ef_g 2;“ Arex = (ake to pass 2 platform 260 metre
| G IE:LE
T ? . long ?
Yo
(1) 18 dFve -'!f""‘%"soxlo (1) 18 sec
(2) 24 3% X,a T—" (2) 24 sec
(3) 30 AFvz o ’%"“ (3) 30 sec
(4) 32 A% ] (4) 32 sec
65. a1 ey T aer foe i.’['.aa; ¥ g 5. Two alloys are both made up of
g & dfar qur R @ 1:3 copper and tin. The ratio of copper
%Wwﬁmﬁzzs | 39 am and tin in the first alloy is 1 :3 and
FrsreTget &t e suE & Fremn o, in second alloy is 2 : 5. In what ratio
b & Bweg & aR @ fom @ should two alloys be mixed. to
AT 3:8 & A ? : obtain a new alloy such that the ratio
: T wd T d of copper and tinbe 3 : 8 ? 9y
3 ' (1) 3:5 .
e X bX7 Z 48 1Y
(2) 4:9 i = 9% 0
457 : R S
) Jo X 3x3 - ug
(4) 3:8=9M0 > 2Ue ¢
16 + 13
66. I 4 ¥ I 6 HiaW TF I & 7 66. If 4 men or 6 women can do a piece
goe gfafed #d &% 12 RSt § #w of work-in 12 days working 7 hours
THd 8, O 34 P %‘r EVRIEEES] Y -a day. How many days will it take to .
10 969 U1 3 #iew] 8 gUe Hicied ut ¢ complete a work twice as large with -
F4 P fhaq A & QU &1 P ? ‘ﬁ]{ 10 men and 3 women working :
AN together 8 hours a day ? i
: YxbXPxR - 3K
Wl @ 7% Torubrx )6 @).7 i
= : Wb
(3) 8 (4).9 ' (3) 8 4) 9 2
I > 1
67. A} x.= B +2x43 §L. If x= , then the value of
_ 2 1++2
HATE . Uxb 42+ s
(1) 0 (2) 1 (1) 0 2) 1

(3) A\ -G 4) 2! (3) 4 (4) 2

Level-2/202
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68. T T AN 1 arver w@ A -

1 L1 22

R lo

CAE, :{il-‘J. MKO, RPT i
(1) UTY 2) WUy V”
3) VUz (4) WUZ

69. TF TR FHt F=E 66 HAex B, o =@

TR ¥ U o gy a9 1.32 3
TR & gt & wen ®

b60e-
130

(1) 1000:/(2) 50 922 U

(3) 500 (4) 5000 sl

. g6
0. & HEMT Fr A 520 ®, AR I A

T HER B 4% FH F A A
AT B & 12% g Rar am, @
W Heqd geEy gfM, o 9T 8
B Hem ©

4
xx\zty113%
(1) 210 2T 240 o . xey
(3) 270 4) 300 S ¢

Tk FOeT fambar 33 X HUT qHY,
11 iR F8 3 o6l @ & R
AH W BT A o, o SEH TG
Hﬁl‘-ﬂﬁ%: = r

(1) 11% (2) 22% {;
(3) 50% (4) 40%

A X Fe “ge deH AN Amn & i
mr&a%,ﬁvaﬁ\%m%ma%?fja

3 T, A Y R R g §

(1) =r=n h

Q) @

(3) ST

(4) T AL (hx ¥
Level-2/202 : LJJ
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:
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68. The next term of the following letter

series will be :

CAE, HFJ, MKO, RPT, ....
(1) UTY (2) WUY
(3) VUZ (4) WUZ

The length of a wire is 66 metre.
then the number of circles of
circumference 1.32 ¢m that can be
made from the wire is :

(1) 1000 (2) 50

(3) 500 (4) 3000

70. The sum of two numbers is 520. If

the bigger number is decreased by
4% and the smaller number 1s
increased by 12%. then the obtained
numbers are equal. then smaller
number is :

(1) 210 (2) 240

(3) 270 (4) 300

A cloth merchant on selling 33 metre
of cloth obtains a profit equal to the
selling price ot 11 metre of cloth.

The profit percentage is : Py,
(1) 11% il (2) 22% gy 1 33
(3) 50% (4) 40%

72. A said "that boy is the grandson of

my mother's husband. 1 have no
brother or sister." How is the boy
related to A ?

(1) Uncle

(2) Son

(3) Nephew 20 3" Bouisy

(4) Cousin 940 4 : ;
y%e P.T.O.;'u; -;".‘J

0o
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ey

(4) 739

¥ 5.000 R 12% gt o1 3 a7
A

7 TR B ok bl

Goeexlix? _ oo
i fEXRX ! 9,
(Lt | — P9
(2) T 84
(3) X 96
(4) X 36

75. TF THEQHSt & 9" 100 o B

AR TEH wF fEel 40 Ah L A
IGH SAFA ©

(1) 300 ¥’
(2) 600 ¥
(3) 780 ¥t
(4) 900 I’
Ifi ¥ 7979 | FO
FifeTT :
'GA4T, I9R, M20P, P41N, S90L
(1) J9R
(2) M20P
(3) P4IN L~
(4) S90L

Level-2/202

Find the wrong number in  the
following Series :
135, 226, 353, 552, 739

(1) 353 (2) 226
(3) 552 (4) 739
The difference between  simple

interest and the compound interest

- compounded annu‘ally at the rate of

12% per annum on X 5.000 for two
years will be :

(1) T 72
(2) T 84
(3) T 96
4) T 36

The perimeter of a rhombus is
100 cm and one of its diagonal is 40

cm. Then its area is :

(1) 300 cm’
(2) 600 cm’
(3) 780 em’

4) 900 cm® L—

Find the wrong term of the following
series :

G4T, J9R, M20P, P41N, S90L
(1)=I9R'S
(2) M20P
(3) P4IN
(4) S90L
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7. A W = 23, STRONG = 93, @ 17, i We= 23, lylfli{’({;ﬁ(“: = 93, then
WEAK SRET § ¢ J\;VSF:\E( is equal to :
(1) 40 (140 \—
(2) 41 (2) 41
(3) 43 (3) 43
(4) 44 (4) 44

78. If a person walks 8 km towards
South then turns right and walks
8 km, again turns left and walks
10 km. In which direction is he from
starting point ?

(1) East-South
(2) North-East
(3) North-South

(4) South-West

. 1 _ 4
79. If Sa+— =35 . then the value ol

3a
9a” + : = 18

25a°
51
I3 o=
(1) s
29 29
(2) T3 o (2) 2
52 s 2
(3) 5 3) S
39 AT 39
4) — 4) —
4) 5 (4) 5

Level-2/202 BT,
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T AR @ H olx 2 Reft T ®
X a8 2R Rem & geew 1 Pl
qa ¢ Y ae wd Rar ¥ gea 2
Bl s@@ ¥, o9 s qg s R
? 95 4 Bl oo ¥ oW e
() S

3
(2) 6 &t =
(3) 3 Rl ;.
(4) 4 fet

(1) JEHH= ITHeH & oemey & &Y |
HE F B

(i1) ‘sfrem mmﬁ B afem B

7@ F g

(1) %ae o (i) qe1 8

(2) Fa@ FUF (i) T B

(3) T & (i) iR 7 & (i) T ?
4) AT Fo wh B\

82. ‘Gugdl’ W% dreferd sfEem ¥ FE

R & 7

(1) geraa § "
(2) Sferen &

(3) &diF |

(4) FeHTE H

Level-2/202
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80. A person wa

lks 2 km towards East
and then he turns o South and walk
| km. Again he turns O East and
walks 2 km after that he turns 1o
North and walk 4 km. Now how far
is he from his starting point ?

(1) 5Skm

(2) 6 km

(3) 3 km

(4) 4 km

Read the following statements about
Haryana Sahitya Academy :

(i) The Chief Minister serves as the
President of the academy.

(i) 'Harigandha' is the Magazine of
the academy.

Choose the correct code :

(1) Only statement (i) is correct
(2) Only statement (ii) is correct
(3) Neither (i) nor (ii) is correct

(4) Both the statements are correct

82. Where the 'Panchwati' pilgrimage

site is located in Haryana ?
(1) In Palwal

(2) In Ambala

(3) In Hathin

(4) In Ballabhgarh
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g3, T W 2 f P A fea B 7

(1) g

(2) dEegE
(3) fRamr
4) ﬁaﬁﬂ\/

Rl L
(A) 9= & 1 5ed4) A
(B) srefers / (i) o
C© I /O i) TR
(D) |& #1 v) grETad
e
(A) (B) (C) (D)
(1) (i) i) (v) @)
@) Gi) Gv) @) ()T
(3) (iv) (i) @) ()
- @ @) () G (v
85. BXId, 2021 ¥ omEifm 364 T
wycfeay AfqzEie § 'aﬁawrr

(1) 13
() 18
@31
(4) 24

Level-2/202
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83,

In which district the '‘Chinkara

Breeding Centre' is situated ?
(1) Kaithal

(2) Panchkula

(3) Hisar

(4) Bhiwani

Match the following :

Name Place
(A) Birbal's Rang (i) Narnaul
Mahal
(B) Spiritual Museum (ii) Gurugram
(C) Chor Gumbad (i) Yamunanagar
(D) Sohna Fort (iv) Panipat
Code :
(A) B) (©) (D)
() G @) @Gv) ()
() (i) (v () (i)
(3) v) () (i) (1)
(9 Gy @ G - v

85. How many gold medals were won-by

Haryana state in the '36th National
Junior  Athletics Championship'.
which was held in February, 2021 ?

(1) 13
(2) 18
(3) 21
(4) 24



[B]
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86. ﬁ%ﬁﬁaﬁﬁiﬁl"’fsﬁt{m%m{m

m%ﬁﬁuwﬁ@%?
(I)Eh'oq:foam?ﬁ\/ '

(2) To Ao fpegd
(3) ST arfEay

(4) F<H e Qe

P- -
SR - /A8 g1
(1) 59 9 — Frerr fexoy

(i) T a9 g sty — S v

(iii) MET a9 Sfg Syeameg — gwe X

&7 R H TIA HifoT
(1) Faa (i) (2) (i) ¥R (iii)

3) () IR GiY (4) = (i)
1857 @I #ifq ¥ o% srgleq™ &
da9s ¥

(1) TIGEE & (2) HEETR T «
(3) =R AV (4) I >

%qﬁwmﬁm%ww

g@qnsﬁﬁamsrgﬂzﬂw % ded d
it TR F

(1) 11,000 BT (2) 21,000 AL
(3) 31,000 9% (4) 51,000 &I

giaren @t = 9Reg 4 IAow e
B T ©

(1) 10
(3) 14\~

2) 12
(4) 06

-

Who among the following was ),
longest serving Governor of Haryang -

(1) B.N. Chakraborty
2) A-R. Kidwai

(3) Jagannath Pahadia
(4) Kaptan Singh Solanki

Which of the following pair/pairs
is/are true ?
(i) State Animal - Black buck
(i1) Saraswati Wild Life Sanctuary

. Kaithal
(iii) Nahar Wild Life Sanctuary

Thajjar

Choose the correct code :
(1) Only (i) (2)
(3) (i) and (i1)  (4) Only (ii1)

(1) and (111)

The hero of 1857 Revolution
Abdurrahman Khan was related 1o ¢

(1) Bahadurgarh (2)
(3) Jhajjar

Farrukhnaga

(4) Yamunanagar

89. The amount which is given to the

sports woman on the occasion ol
marriage  under  'Mukhyamantri
Vivah Shagun Yojna' :

(1) Rs. 11,000 (2) Rs. 21.000

(3) Rs. 31,000 (4) Rs. 51.000

80. The minimum number of members

in. the Council of
Haryana can be :

(1) 10
(3) 14

Minister ol

() 12

Level-2/202
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YT - IV (PART ~ IV)
35t (ENGLISH)
Di_nc‘f!'gt! : An_swc:r_!h_q following queiu'oxls_ by selecting the most appropriate option. i)
a —
91. Choose the correct antonym of the 93. The story, 'A Different Kind of
word Benign' : School' talks about -
(1) Malign (1) Below Average Kids
(2) Gentley~ (2) Differently Abled |7
(3) Kind (3) Meritorious Kids
(4) Mild (4) None of the above
92. Match the phrases in Column A with 94. Convert the following positive
their meanine in Column B : sentence into comparative sentence :
y This knife is not as sharp as that one.
A B
- 1) This knife is sharper than that
(1) Broke out p (a) was not able LU2 S0 > BIER ”
one, ..~
to tolerate |
e (2) This knife is sharper.
(1) In accordance (b) began
with suddenly in a (3) That knife is sharpest of all.
violent way (4) This knife is more sharper than
(1i1) A Helping (c)- assistance that one.
hand 95. Identify the figure of speech in the
(iv) Could not (d)acc. to a following lines :
Stomach &% articular , . s ;

: ke - "The Moan of doves in immemorial
mle; principle elms and murmuring of innumerable -
or System bees."

(1) i-b, ii-d, iii-c, iv-a \_~ (1) Alliteration
@) i-a, ii-b, iii-c, iv-d X (2) Assonance \—"
e 3) Onomatopoeia
(3) i-d. ii-c, iii-b, iv-a () S d
(4) Simile
(4) i-b, ii-c, iii-d, iv-a
P.T.O
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96.
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]"l'l n the blank with the correct
article :

| wcfn o Church to sce
the Golden statue of Jesus Christ.

(L) Ahe Ty -
(2) A
(3) An

(4) Zero article

Who's the author of the story, "Three
questions" ?

(1) Leo Tolstoy

(2) Ruskin Bond |~
(3) H. G. Wells

(4) Graham Greene

Fill in the blank with the cerrect
phrasal verb :

The car when we were
driving through the desert.

(1) Broke down &

(2) Break out

(3) Broke off

(4) Break in

..............

Identify the underlined part of

speech in the following sentence :
The moral law is above the civil.

(1) Adverb
(2) Preposition *
(3) Noun X

(4) Adjectiveiyl/ :

Level-2/202

[24]

100.

Identify the correct sentence patiern
of the given sentence -

They elected him chairman.
(1) S+ V+ o+c”

2) S+V+0OH+ O

(3) AV CHC X

4) S+0+0 LOPEd
Direction Read the following
and answer the questions given below
(0. Nos. 101-1006) :

A silly young cricket, accustomed (o sing
through- the warm, sunny months of gay

pocim

summer and spring.
Began to complain when he found that. at

home,

His cupboard was empty. and winter was
come.

Not a crumb to be found

on the snow-covered ground :

Not a flower could he see.

Not a leaf on a tree.

"Oh ! what will become, "Says the cricket,
"of me ?"

At last by starvation and famine made bold.
All dripping with wet. and all trembling
with cold

Away he set off to a miserly ant.

To see if, to keep him alive, he would grant
Him shelter from rain

And a mouthful of grain

He wished only to borrow;

He'd repay it tomorrow:

If not, he must die of starvation and
SOITOW,




—

i
o
w

\.

ot
(=]
>

:

—

Join Telegram Group "HaryanadJobs.in"

For what did the cricket go to ant ?
(1) To give him food
(2) To give Nowers and leaf on tree

(3) To protect himself from sun

~ (4) Shelter from rain and mouthful

of grain\_~~

What does the word "crumb" mean
in the poem ?

(1) A small piece of bread
(2) A little stick

(3) A protected area .~
(4) Something inedible

What did the cricket complain of ?
(1) The warm sunny days&
(2) The empty cupboards |~
(3) The boring surroundings »

(4) Not able to sing e

A story with animals as characters,

that conveys a moral is called :
(1) A Lyric

(2) A Fablew—"

(3) An Anecdote -

(4) A Novel

The coming of 'which weather' made

the cricket 'complain’ ?
(1) Wintet.”".. (2) Spring
(3) Summer (4) Autumn

Level-2/202
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[(B]

Pick out the word which means,

"Severe suffering due to a lack of
Nutrition" :

(1) Trembling

(2) Miserly x

(3) Starvation "
(4) Complain »

"Every year on the occasion of kid,
there was a fair in our village."
T'hese lines occur in which story ?
(1) A Game of Chess

(2) Eid Celebrations

(3) Village Fair \"

(4) A Game of Chance

Choose the correct option for the
underlined modal :

We should go on a holiday.
(1) Suggestion "

(2) Permission

(3) Ability
(4) Necessity

»

Fill in the blank with the correct
option :

India is a noble, generous land,

TECMINE v ysansanal sy natural wealth.
(1) On
(2) With "
(3) For
(4) At
M
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Which of the following is spelt

correcily ?

(1) Enterttainment No
(2) Enviroonment e
(3) Juxtaposition |_—"
(4) Numerologgy)(

Identify the phonetic symbol of the
underlined sounds -

gun come luck

QL) =" (2) 6:
3) u: (4) o
Identify the poet of the poem

'Vocation' from the choices given
below :

(1) Rabindranath Tagore

'(2) William Wordsworth \_—"

(3) Sarojini Naidu
(4) John Keats

Which of the word is incorrectly
formed in plural ?

(1) Scarves

(2) Dwarves

(3) Handkerchiefs{\~"

(4) Loavfs

Identify the phonetic symbol of the
underlined sounds :

Thin, Method, Author
(1) o @) T
&) F (&~

Level-2/202

115.

—
Pt
=~

Fill in the blank with the corpe,,

modal :
He . /v sidngsassisss not enter my hoyg,

again. (command)
(1) Shall @
(2) May °

(3) Might -

(4) Should L~

Where was Kalpana Chawla born ?
(1) Kamab/ (2) Sonipat

(3) Ambala (4) Gurugram

Fill in the blank with the cerrect
conjunction :

RS Lt ot i FETo R0 s S
ornamental.
(1) Whether. or
(2) Both, or

(3) Neither, non__—"

(4) Either, but also

The word "Weird" in the story 'A
Gift of Chappals' mean

(1) Sweet

(2) Malicious

(3) Orthodox

(4) Strange .~
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119. The Magistrate was a man with a

=
™
o

:

[
(s8]
[

—
Ind

Kindly nature.

Identify the underlined phrase.
(1) Noun phrase

(2) Adverb phrase X&*>

(3) Adjective phrase \u~"
(4) Participle phrase

How old was Evelyn when she went
to the Royal Academy of Music ?

(1) Seventeen
(2) Twenty Two
(3) Nineteen

(4) Thirteen "

Identify the underlined word in the
sentence :

We met a girl carrying a basket of
flowers. .

(1) Noun

(2) Participle b~
(3) Gerund

(4) Infinitive

Fill in the blank with the correct
preposition :

There ~ beautiful lake

was a

e RS us in the valley.

(1) Below X
(2) Into \\SC

23.

=

=t
e

[
o

[B]

"My Childhood" is an extract from :
(1) My family

(2) The solar system ,

(3) My Ambition

(4) Wings of fire

Write the Synonym of the word

"Benevolent" :
(1) Malevolent -
(2) Harsh -

(3) Altruistic

(4) Traitor

Fill in the blank with the correct
option :

The report must be read ..............
so that the performance can be

improved.

(1) Sorrowfully
(2) Awfully

(3) Mischievously

(4) Carefully Vo

Name the writer of the story, "The

Banyan Tree" :

(1) William James |~
(2) Anna Hathway

(3) E.V. Lucas

(4) Ruskin Bond




I
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ARL. Varly man was mghtened of what in

the chapter, "Fire, Friends and Foe" ?
(1) Lightining and Volcanoes |

(2) Lire

(3) Ran and Ihunderstorm

(4) Amimals

Which of the following 1s not a

Collective Noun ?
(1) Fleet (2) Crowd

(3) Army (4) Childhood "

Choose  the sentence  which s

grammatically correct ?

(1) Between you and me, My

Sharma is not to be trusted.

(2) Between you and 1, Mr Sharma
is not to be trusted. "

(3) Between | and me, Mr Sharma is

not to be trusted.

(4) Between you and you, Mr

Sharma is not to be trusted.
l'aro in the story, "Taro's Reward"
isa:
(1) Woodcutter
(2) Painter 1~
(3) Magician
(4) Gatekeeper

Level-2/202
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8

—
Cad

ot
(%

o, (3) Jim's auto
4)_ Apén *

[he story, ‘A visit to Cambridge

meeting between

(1) Firdaus Kanga and Issac Newig

(2) Stephen Hawking and Mari
Curie

(3) Stephen Hawking and Firdays
Kanga

(4) Henry James and William Chang

Which of the following is spelt
correctly !

(1) Conoiseur

(2) Conooiseur

(3) Connoisseur

(4) Conoisseur

Who is the poet of the poem, "The
School Boy" ?

(1) William Blake

(2) William Wordsworth _—
(3) William Henry

(4) William James p—

What did the writer find in the secret
drawer in the "The Best
Christmas Present in the World" ?

(1) A Necklace v
ellcr‘/

story,

(2) Jim's Last

graphy
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135. ldcmil‘)- the grammatically correct
sentence :

(I) All the passengers, with the
driver, is killed in the accident,

(2) All the passengers, with the
driver, be killed in the accident.

(3) All the passengers, with the
driver, were killed in the
accident. _—"

(4) All the passengers, with the
driver, was killed in the
accident.

136. A poem of 14 lines is called :

(1) An Elegy-

(2) An Epic

(3) An Allegory

(4) A Sonnet \_—"

137. Why does Jody want to bring the
fawn home ?

(1) To beat it

(2) To raise it-

(3) To gift it to his friend

(4) To show his father his bravery

138. Fill in the blank with correct
~ determiner :
IEhave quite i g books on art.
EEL): Little

(2) Afewb—
#(3) The

(4) This

Level-2/202

[29]

39.

XS

—
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[B]

Put the verb in the correct form :
|5 L e since early morning.
(1) has been raining \

(2) have been raining

(3) had rained

(4) is been raining
Fill in the blank
preposition :

Most people work
nine to five.

(1) Since

(2) At

(3) For

(4) From L~

with correct

Match the words and phrases in
Column A & B :

A B
(a) Terrible
(b) In pain

(1i1) Gradually (¢) Wanting
be home

(iv) Painfully \d) Slowly

(1) i-d, ii-c, iii-b, 1v-a

(2) i-c, ii-a, iii-d, iv-b L—"

(3) i-a, ii-b, iii-c, iv-d

(4) i-b, ii-a. iii-c, 1v-d

(1) Homesick
(i1) Ghastly

1o

Complete the blank phrase with a
suitable word :

7. AR UM SO0 of ships.
(1) Fleet, ~ (2) Bundle
(3) Pack (4) Herd
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[B] [301
g tonym of the word "Triumpy

143. Name the poem that talks about 142, Thean p
making choices and the choices that is
shape us : (1) Success
(1) The Road not taken (2) Conquest
(2) Wind (3) Win
(3) The Lake isle of Innisfree (4) Defeat ==
(4) Rain on the Roof “—" 148. Transform the following into 4

ative sentence :

144. Fill in the blank wi at s .
B with appropriate Only a fool could have done it.
Whenel was young I ..i.....occeus (1) Nobody other than a fool will g
climb any tree in the forest. (Past it.
ability).

one but a fool could have done
(1) Could Jem W
o). Lan /((3) Not a fool is going to do it.
(3) Might
4) None, not only a fool could do
(4) May e

145. Fill in the blank with the correct : y _

option : 149. "The bicycle goes e?.Sl} em‘)‘ugh in
the morning and a little stuffy after

hieves " Droke  ......se.sieusis my lunch." The remark is :

house. Skl g
(1) Humiliating

(1)"Into - -(2) At

B0 4) Und (2) Humorous

t nder .

S % | (3) Sarcastic "

146. What does the phrase, "Hue and cry" (4) Pinching
mean ? : :

(1) Tobekind X 150. I’I‘he corre:f.'{ synonym of the word
Innocuous' 1s :
2) To Hit someone
(2) To ‘*/ (1) Nocuous
3) An rotest
0P (2) Harmless _—
4) Welcome gesture
g R 2 (3) Toxic
(4) Harmful
__________.-—"
Level-2/202





